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(1) BEIEE
SMEE [28,200,000] [480,000] [28,680,000]
BRI [500,000] 0 [500,000]
SMHEBEE [247,250] [147,000] [394,250]
BEINEE [28,947,250] [627,000] [29,074,250]
QEHER
DExE [15,978,393] [1,397,054] [17,375,447]
MEEE= (5,120,000) (0) (5,120,000)
BERERES (1,010,000) (1,246,000) (2,256,000)
BFEANEZES (501,100) (0) (501,100)
ERAREZEER (470,000) (0) (470,000)
L -EfREZEAS (404,000) (93,380) (497,380)
mEEES (1,435,460) (50,674) (1,486,134)
BEGHMEENERZER (FH70Y I (3,110,833) (0) (3,110,833)
HEFMERERES R I0) (1,105,000) (0) (1,105,000)
dtimE. ®mionvy (440,000) (0) (440,000)
LB, RE#TOYH (420,000) A (140,000) (280,000)
FEREITOvY (420,000) (0) (420,000)
Wi, E#itoovs (352,000) (0) (352,000)
JbEE E#EIOyy (390,000) (0) (390,000)
FE. mEITAvy (400,000) (0) (400,000)
AMTavs (400,000) (147,000) (547,000)
QEEE [11,046,950] A[527,754] [10,519,196]
BEERH 27,025,343 869,300 27,894,643
e SRR LR 1,921,907 A 242300 1,679,607
it bty 0 0 0
LR ERAEE 1,921,907 A 242300 1,679,607
2B EN BB DA 0
(EEE SN 0
BEMRIEE 0 0 0
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LR EMERE 0 0 0
i 5| BT 2 B — MR 1IE BR B 2E 15 I %E 1,921,907 A 242300 1,679,607
EABRE 70,000 0 70,000
28— AR IE bR BA EE 1S REE 1,851,907 A 242300 1,609,607
— R ERMEHERS 95,645,766 0 95,645,766
— R IERM ERERER 97,497,673 A 242300 97,255,373
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L HATE TE IE DR EE 1S REE 0 0 0
EEERMENERS 0 0 0
I ERMERERES 0 0 0
MIERRE ERRER 97,497,673 A 242300 97,255,373




